


* 6X6 cm (z = % of multihits)
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* No difference in comparison without beta cut (beta > 0.995)

* |Implement Hades cuts???

o 0350 FSD hist _
LF Hades cuts:
- 03 A1 _ &wl_cuts
o - —&— r10 : .
— I 15 forward_wall_hits/ring: { range: [1.0, 5.0] }
0.25 — forward_wall_hits/time: { range: [22.681788, 27.002128] }
u forward_wall_hits/signal: { range: [80.0, 999.0] }
0o - R - &w2_cuts
T A forward_wall_hits/ring: { range: [6.0, 7.0] }
— 4 N forward_wall_hits/time: { range: [22.681788, 26.684456] }
0.15— 2 A R forward_wall_hits/signal: { range: [85.0, 999.0] }
— : Py o = - &w3_cuts
01— C ] ® ° A forward_wall_hits/ring: { range: [8.0, 10.0] }
— ¢ A forward_wall_hits/time: { range: [22.681788, 28.352235] }
— °
u -~ - : i . ]
0.05— i o forward_wall_hits/signal: { range: [88.0, 999.0] }
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Weight: energy
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* No difference between weights for rapidities
smaller than 3.1
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* Neutrons and protons has same impact???
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» Select rapidities of FSD




